Table S2. *H NMR Chemical Shift Assignments for the 1:2 DNA—-Drug Complex
[d(GGAGCTCC),(ACRAMTU),]?

resdue H6/H8 H2H5/  H1 H2' H2" H3' H4' H5
CH3s H5"
G1 7.71 554 233 251 478  4.14 3.68 (0.02)
(-0.10) (-0.10) (-001) (0.01) (-0.03) (-0.02) 3.58 (0.08)
G2 7.69 538 257 257 496 431 4.10 (-0.05)
(-0.18) (-012) (-013) (-0.21) (-0.05 (-0.03) 4.03 (-0.09)
A3 805 739 591 257 275 504 440 4.22 (0.00)
(-0.09) (-042) (-021) (-0.15 (-0.18) (-0.05 (-0.06) 4.17 (0.01)
G4 7.64 560 251 261 494  4.39 na’
(-0.01) (-0.10) (0.07) (-0.13) (-0.03) (-0.03) 4.21 (-0.03)
C5 732 523 590 212 243 480 @ 422 n.a
(-0.05) (0.01) (-001) (0.02) (-0.09) (0.11) (-0.09) n. a
T6 734 166 607 223 253 485 422 4.15 (-0.08)
(-0.17) (0.04) (-005 (-0.04) (-0.03) (-0.05 (-0.00) 4.04 (-0.08)
C7 776 576 607 223 251 487 422 4.15 (-0.01)
(0.12) (-0.05) (-0.07) (-0.00) (-0.01) (-0.01) (-0.03) 4.08 (-0.04)
o 765 578 621 249 231 457 4180 n. a

(-0.10) (-0.12) (-007) (0.00) (-0.03) (-0.00) (-0.02) 4.07 (-0.01)

ACR H1/H8 H2/H7 H3/H6 H4/H5 H9 H10 H11 H12

788 668 715 704 414 404 313  3.09
(-052)° (-0.87) (-0.80) (-0.72) (-0.30) (-0.34) (0.25) (0.24)

4500 MHz, D,O, 308 K, pH* 7.0; shifts are relative to DSS. The noticeable upfield shifts for G1 and C8
base protons is probably caused by the slight excess of drug stacking to the ends of the duplex. ® Numbers
in parentheses are AS = Sadduct—Free DNA/free AcRAMTU (PPM). € Not assigned due to signal overlap.
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